1. Whowas the first Prime Minister of India?
(A) Jawaharlal Nehru
(C) Morarji Desai

2. Whoinvented the Telephone ?

(A) Marconi
(C) Edison

3. Which is the longest river -

(A) Yamuna
(C) Krishna.

4. Whois called the father of Computer?

(A) Wales Pascal
(C) Charles Babbage

5. Thefirst modern computer was invented in -

(A) 1946
(C) 1960

6. The smallest unit of Computer data is -

(A) Byte
(C) Record

7. Whichis the largest gland in human body?

(A) Liver

(C) Pancreas

8. Sun Esa_—

[ Y
(A} Sta

(C)- Comet

9. Thefirstbattle of Panipat was fought in-

(A) 1761
(C) 1726

(B)

[(®)

(B)

(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

@

Lal Bahadur Shastri

Rajeev Gandhi

GrahamBell

Madam Queri

Ganga
Gomti

Herman Holerith

Van Newmaan

1950

1965

Bit
File

Kidney

None of these

Planet -

None of these
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1939
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Whichis the largest planet-

(A)' Venus (B) Mercury
(C) Earth | (D) Jupiter
Sania Mirza is a player of which game-

(A) Tennis | ' (B) Badminton

{C) Snooker (D) Tabletennis

Normal blood pressure is -

(A) 1107110 | (B) 120/70
©) 130/70 (D) 120/80
Durand Cup is associated with- |

(A)  Swimming _ ' (B) Football
(C) Tabletennis (D) Hockey

When was Quit India Movement [aunched?

(A) 1991 (B) 1942

(C) 1973 (D) 1975
Jaundice is a disease which affects -

(A) Heart ' (B) Liver

(C) Spleen . (D) Gallbladder

Who is the Finance Ministef of india?

(A) Arun Jetley (B) P.Chidambaram

(C) Sadanand Gaura (D) Smiiti lrani

Which is the brightest planet?

(A) Mercury (B} Venus

(C) Uranus (D) Satumn

Who among the following ordered "Jaflian wala Bagh Massacre"?
(A) Lord Mountbatten (BY JohnSimon

(C) Reginald Dyer (D) N.D.K.MacEven
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Who was the Chairman of Drafting Committee of indian Constituent Assembly-

{A) Dr.Rajendra Prasad (B)
(Cy B.R.Ambedkar (D)

The average volume of blood in an adultis -

(A) 3-4litre | (B)
(C) 5-6litre (D)

-Which line passes through the mid of the India?

(A} Tropic of Cancer (B)
(C) Tropic of Capricorn (D)
Which is the highest peak of Himalaya?

(A) Kanchanjunga (B)
(C) Dhaulagiri _ (D)
Which is the Southern most point of india?

{A} Indirapoint (B)
(C) Priyanka point (D)

Battle of Haldighati fought between -

(A) Akbarand Hemu (B)
(C) Akbar and Maharana Pratap (D)
Which is the 29th State of India? ‘
(AY Madhya Pradesh o (B)
(C) Telangana (D)
Which is the 'National Bird' of India?

(A) Eagle (B)
(C) Peacock {»)

Who was the inventor of Television?
(A) W.Ramsse (B)
(C) J.L.Beyard , (D)

Jawahar Lal Nehru

Purushottam Das Tandon

4--5 litre
67 litre

Equator

None of these

Makalu
Mt. Everest

Rajeev point

None of these

Akbar and RanaSanga

None of these

Uttar Pradesh
Uttarakhand

Pigeon

None of these

Robert Maless

Johnson
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1 ‘ 28. Jim Corbett National Park is located in -
' | (A) UP. | (B) M.P.
| (C) Chattisgarh (D) Nainital
?1 29. Who wrote the book 'Gitanjali'?
1 (A) Premchand ' (B) Mahatma Gandhi
| (C) Rabindranath Tagore (D) Noneoftheée
I 30. 'Ramcharit Manas' the book is written by-
(A) Valmiki =~ - : (B) TulsiDas
' ' (C) KabirDas (D) SoorDas
1 : 31. 'Bhakhra Dam'is located at :
' (A)  Hamirpur ' - (B) Mirzapur
| (C) Tehii ‘ l (D) Himachal Pradesh
.. 5 32. FIFAWorld Cup 2014 is being held at |
R l (A) Canada : (B) Brazil
t | (C) UK : (D) Norway

33. FIiFAStands for:

' (A) Federation of International Football Association

(B) Football International Federation assembly

(C) FineIndian Forest Association
| “ ' - (D) Noneofthese
| I 34. Which state is a largest producer of Sugarcane :
(A P | (B) MP
- (C) Andhra Pradesh : (D) WestBengal
. 35. How many states are in Indianow ?
(%) 28 ®) 27
L © - o>
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‘Shimla' is the capital of :

(A) Uttar Pradesh

(C) Himachal Pradesh
Mahatma Gandhiborn at:
(A) Porbandar

(C) Gokulgram

Who said 'Mahatma' to Gandhiji :

(A} Radha Krishnan

(C) LalBahadur Shastri

Konark Temple is situated in :

(A) Orissa

(C) MP

Who wrote 'Vande Matram' national song:

(A) Ravindra Nath Tagore

(C) Maithlisaran Gupt

Whois the President of India now 20147

(A Arun Jetli

(C) PranavMukhetjee
How many spokes are Ashoka Chakra ?
(A) 24

(C) 26

How many Vowels are in English Alphabets:

(A) 8
(€) 6

(B)
(D)

(B)

(B)

(D)

(B) -

(D)

(B)
(D)

(B)
(D)
(®)
)

(B)
(D)

Madhya Pradesh

Uftarakhand

Kundgram

None of these

Rabindra N-ath Tagore

JaWahar lal Nehru

up

Uttarakhand

Bankim Chandra Chatterj

Haribans Rai Bachchan

Smriti irani

Smt. Pratibha Patel
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(A) Chanakya ' (B) AmirKhusro

: (C) AbulFazal o "~ (D) Noneofabove
1 : 45. Abhigyan Shakuntlam the book is written by :

' (A) Tulsidas (B) Banbhatt

;1| | (C) Kalidas o o (D) Noneofthese
46. Whois known as 'Lokmanya’ ?

(A) Gandhijee (B) Gokhale

(C) Tilak : (D) Nehru
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47. Who wrote our National Anthem ?

t (A) JaWaharLai Nehru (B} . Ravindra Nath Tagore

: (C) MunsiPremchand (D) Bankim Chandra
a 48. TajMahalis situated nearthe river:

(A) Ganga (BY Yamuna

(C) Gomti - (D) Kaver

i
1 49. Who discovered the Zero ?

i (A) Banbhatt | (B) Aryabhatt

S (C) Varahmihir B (D) None of these

! i - 50. Garbadanceis relatedfo:
, o (A) Assam | (B) Gujarat
(C) UP . _ ' (D) Manipur
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Between two given rational numbers, we can find -

{A) Oneand only one rational number
(B) Only two rational numbers
(C} Onlyten rational numbers

(D) Infinitely many rational numbers

15 7 11 3 13
If the rational numbers 7y 33 5 are arranged in ascending order, then middie

rational number is -

A 3 B 33
o B 5 1
()15 ' ()17

Fora non-zero integer ¢ which of the following is not defined?
(A a+0 B} 0+a
€C) a=+l ' ©) 1+a

Which of the following has the largest value?

N 32 o 0320
A 0.05 B) 50
o 32 oy 2

© 553 (0) <

—1isnota solution of the equation -

(A x+1=0 B) x-1=2

{C) 2y+3=1 , D) 2p+7=5

The solution of which of the following equations is neither a fraction nor an intéger?
(A) 2x+6=0 - (B 3x-5=0

C) 5x—8=x+4 D) 4x+7=x+2

: A-12500
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How many natural numbers l'iédka_e"'t\}\}e'é'hﬂl 82 and "1'92'?
(A 30 _ (By 37

(C) 35 (D) 36

Given that {5625 = 75 . the value of \/0.5625 + J56.25 18-
(A) 825 (B) 0.75

C) 825 | (D) 75.05
Which of the following pair of angles are .supplementary?
(A) 85,420 | | (B) 60°,60°
(C) 75°, 105° | D) 179°,2°

in the figure PQ is a mirror, AB is the incident ray and BC is the reflected ray. If ZABC
then /ARP isequaltio-

4 C
46°
P
i )
(A) 44° (B) 67°
(C)y 1 : (D) 62°

= 46°,

The present age of father is four times the age of his son. After 10 years, age of father will

become three times the age of his son. The presentage of fatheris-
(A) 80years (B) 60years

(C) 90years | (D) 50years

The sum of three consecutive multiples of 7 is 357. The smallestone is-

Ay 112 | (B) 126

S (©) 19 D) 116

A-12500
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.The number of diagonals in a polygon of # sides is -

A) n(nz——l) ®) n(n7—2)
(©) n(n2_3) ©) n(n-3)

The angles of a quadrilateral ABCD taken in an order are in the ratio
3:7:6:4,thenABCDis a-

(A) Kite _ . - (B) Parallelogram

(C) Rhombus ‘ (D) Trapezium

~ How many non-overlapping triangles can we make in a polygon héving # sides -

A n-1 (B) n-2
©) n-3 D) n-4

The number of sides of a regular polygon,.whose each interior angle is of 135°, is -

(A) 6 By 7
(C) 8 D) 9
The number of vertices of a polyhedron, whiéh has 30 edges and 12 faces, is -
(A) 30 (B) 25
(C) 20 (D) 18

Factorized form of 23xy — 46x + 54y 108 is -

A (28x+54) (y-2) . (B) (23x+54y)(y-2)

(C) (23xy+54y) (~46x—108) (D) (23x-54)(y+2)
The sum of x+5 observations is x* — 625 . Their mean is -

(A) (x+5)(x2+25) , (B) (x~-~5)(x2 +25)
© (x+5)(+”-23) O (x-3)[x*-2s)

| ' | . A-12500
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A '(x+5)(x2+25) ® (x-5)(x?+25)

8 (C) (x+5)(x2—25) (D) (x—S){x2—25)




et o e z

70.

71.

72.

73.

74.

75.

1 4, 1
if x+—=2 then ¥ T—7 isequalio-

X , x
Ay 2 (B) 16
(C) 8 (D) ©

The cells of a bacteria double in every 30 minutes. A scientist begins with a single cell. The
number of cells after 24 hours will be - -

By 925 - (B) 24

(C) 47 . (D) 48

The distance between the Sun and the Earthis 1.496x 108 Km.'and distance between the

Earth and the Moon is 3.84 x 108 ;... During solar eclipse the Moon comes in between the
Earth and the Sun. The distance between the Sun and the Moon during eclipseis-

A) 1492.16x10%m. ®) 14.92x108Km.

©) 2344x10%Km. D) 5336x10%m.

The cost price of 10 shirts is equal to the selling price of 8 shirts, then which of the following
is true for the transaction? : '

(A) Profitof26% (B) Loss of 25%
(C) Profit of 20% (D) Loss of 20%

The compound interest on Rs. 50000 at 4% per annum for 2 years compounded annually
is- '

(A) Rs.4000 (B) Rs.4080

(C) Rs.4280 ' (D) Rs.4050

In a scout camp, there is food provision for 300 cadets for 42 days. |f 50 more persons join
the camp, the provision will last for - '

(A) 40 days ' (B) 32days

(C) 36days (D) 30days

K : | A12500 |
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At a particular time the length ofthe shadow of Quitub Minar whose height is 72m is 80m.
What will be the height of an electric pole, the length of whose shadow at the same timeis
1000cm?

- (A)  1200cm. (B) 992cm.

(C) 1111.1cm. (D) 900cm..

The surface area of the three coterminous faces of a cuboid are 6, 15 and 1Ocm2_ respectively.
The volume of the cuboid is -

A) 30em® (B) 40cm® |
(C) 20cm? , (D) 35cm?

Three cubes of metal whose edges are 6 cm, 8 cm and 10 cm. respectavely are melted to
form a single cube. The edge of the new cube is :

(A} 12cm. (B) 24cm.
(C) 18cm. _ © (D) 20cm.

A cube of side 4 cm. is painted on all its sides. Ifitis sliced in 1 cm® cubes, then number of
such cubes that will have exactly two of their faces painted is :

A 8 | ®) 16
(C) 24 (D) 32

The area of a trapezium with equal non-paralle! sides is 168 m?. Ifthe lengths of the parallel
sides are 36 m and 20 m, the length of non-parallel sides is :

(A 15m (B) 121
© 1om D) 8m

The number of bricks of size 22 cm x 10 cm x 7 cm, required to construct awall 11 m long

3.5mhighand 40 cm thick if the cement and sand used in the construction occupy ——th

partofwall, is :
(A) 8000 ' (B) 9500

(C) 10000 | (D) 9000

@ - A-12500
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(C) 1111.1 9. (D) 900 . |

Rl ST Bl T SR BT B A B 6,15?[%10'@"%2%!‘5!"%1%%%-
(A) 30 T | | (B) 403

(C) 208 - (D) 35%d

o1 % A o, R B A 6 9, 8 A aur 10 9 ¥, &) R w O o Re
W%Iﬂqﬂﬁiﬁﬁ‘{%: ' '

A 12 3 B) 24 T
© 18 (D) 20 &

4 0 ST A O R O R R T B o g1 S B o e e o
@ ST A e, S g D wes @ a,

| (A) 8 (By 16

(C) 24 (D) 32

..mammrgweﬁaﬁr@amaﬁraaqﬁmsﬁ?%i A T omel o werEa 36
TR 20 W FF S eremR Eme @ weE B

& 159 | (B) 124

©) 107 (D) 8+

922 A <10 Bt x 7 A oA £ ) s, B 11 A el a5 9 S0 40 B

fﬁﬁﬁmwﬁﬁwﬁﬁmmﬂ%mﬁﬁ%mwﬁmﬂ -I%Eﬁ’%ﬂrm'wé‘,%:

(A_) 8000 . (B) 9500

_(Q} 10000 | ' (D) 9000 |

PO p————— T . . R RIS T



i 5o, o at b e o T A T A AR

A T (B) WE AR
(€) o R (D) @ ARG
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(A) atb+cd | (B) 94
©c) 3% . (D) 379

84. uﬁ&rﬁweﬁamﬂmbzﬁrmwo@rﬁrawmm%:

(Ay 13 (B) 12

€ 17 (D) 15

85. g & GEmel 2bSK ab & AN 8a ¥ W a TSN § ¢

(A 4 | (B) 8

(C) 8 | - D) 2

86, Wew 9187622 § a® WHd WA, oERs 98 8 § Rt &, ¥ ¢

o (g) 338X 5 (B) 39X 7
! i (C) 5 X7 (D) 43X 6
87. ﬁwﬁfﬁaﬁﬁ@raﬁﬁ@ﬁaﬁaﬁwﬁﬂﬁaeﬁ%‘?
‘ (A) 3,45 | (B) 24,6
(C) 25,3545 (D) 2.3,6.4,5.2 |
! 88, @Eﬁ@ﬁ%?ﬁ%ﬁw%ﬁﬁ.ﬁﬁﬁaw%‘-g\xu%%?“-.ﬁ'a‘g%ﬂﬁ?“Sﬁ33
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82. Agraph that dispiays data, that changes Eontinuously over periods of time, is :
(A) bargraph (B) piechart
(C) histogram | (D) linegraph
83. Letabc be a three digit number. Then abc + bea + cab is not divisible by:
(A) at+b+ec (B) 9
C) 3 (Dy 37
| ’8'4. 1t sum of two numbers a3 and 8bis 150, then the value ofa +bis :
(A)r 13 | (B) 12
A{C) 17 : (D) 15
- 85, [fsumof two numbers 2b and ab is 8a, then a is equal to
(A) 4 B) 8
(C) 6 D) 2
86. The possible values of a in the number 9187622, ifitis divisible by 8,are:
(A) 3and5 (B) 3and7 |
(C) band7 . (D) 4and6
87. Which_of the following cannot be th‘e sides of a triangle?
(A 3,4,5 | B 2458
(© 253545 (D) 23,64,52

.. The top of a broken tree touches the ground at a distance of 12 m from its base. If the tree
is broken at a height of 5 m from the ground, then the actual height ofthe tree is :

& .
(o]
(o)

A 25m - | (B) 13m

(© 18m | © 17m

- TR e e g " - T




89.

0.

91.

92.

93.

B C

Inthe figure M is the mid-point of both AC and BC, then:
A 1= 22 " (B) Z1=Z4

(C) «£2= L4 O £1=43

The lengths of two sides of an isosceles tiiangle are 9 cm and 20 cm. The perimeter of the
triangle is : S

(A SSCrﬁ ~ (B) 29cm

(C) 38cm (D) 49cm

In an entertainment programme 250 tickets of Rs, 400 each and 500 tickets of Rs. 100
each were sold. If the entertainment tax on tickets of Rs. 400 is 40% and on fickets of Rs.
100 is 20%, then the total entertainment tax collected is :

(A) Rs.50000 - (B) Rs. 40000

(C) Rs.B0000 | (D) Rs.55000

The area of the largest square, that can be cutoutofa circle of radius 10 cm, is:
(A) 100 cm? (B) 200cm?

(C) 300cm? (D) 400 cm?

A cubical tank can contain 1331 litres of Water. if 1000 litres equal to 1 m® thé side of the
tankis:

(A) 1m B 11m

© 121m (D) 1.3m

B . | A-12500
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94.

95.

96.

97.

98.

99.

100.

it 31157625 =105, then 3/0.000001157625 is equalto:
(A) 0.00105 - (B) 0.105
(C) 0.0105 | (D) 0.000105

Ifthe capital of a company of Rs. 62,50,00,000 becomes Rs. 57,60,00,000in 2 years, then
annual devaluationrate is :

(A 5% ‘ (B) 4%
C) 3% D) 6%

The mean ofthe observations x, x + 3 x+5 x+7 x+10is 9, the mean of the last three
observations is :

A) 10% (B) :o-j-

© ny ECRE

The range of the data 25,18, 20,22, 16, 8, 17, 15,12, 30, 32, 10, 19, 8, 11, 20. i$ X
(A) 10 ' (B) 15

(C) 18 - (D) 28

The median of the data | 78,56, 22, 34, 45, 54, 39,68, 54,84 s :

A 45 | (B) 495

(C) 54 | (D) 56

Mode of data 15, 14, 19, 20, 14,15, 18, 14, 15,18, 14,19, 15,17, 15 is

(A) 14 B) 15

(C) 16 D)y 17

If the compound_ interest at the rate of 10% per anhum of Rs. 12000 is
Rs. 3972, then the time is : :

(A) 2yrs. o (B) 3yrs

(©) 4yrs (D) Sy

- . A1s00
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94, TR 157625 =105 A 3/0.000001157625 TR B :
(A) 0.00105 | - (B} 0.105
©(C) 0.0105 (D) 0.000105

en 05. o w ! A o 5. 62,50,00,000 F 2 T ¥ gea &. 57,60,00,000 © R & &

(A 5% ' (B) 4% -
- © % | D) 6%

ree 96 iy x+3 xS x+7, x+ 10 F A 9B A A d Jarol HoAreg B

A0 ® 103
© 13 © 3

o7, ‘st 25,18, 20,22, 16,6, 17,15, 12, 30, 32, 10, _59', 8,11, 20 & TREX ¥:
w10 - o ®) 15
,(C)V 18 (D) 26
98, ol 78, 56, 22, 34, 45, 54, 39, 68, 54, 84 %% T & -
w 45 (B) 495

o s (D) 56

99, $T1HST 15,14, 19, 20, 14, 15, 16, 14, 15, 18, 14,19, 15, 17, 15 % TgaF * :

A 14 B) 15
(C) 16 D) 17
is & 100.3% 10% affE = W ® 6. 12000 H wERE A 5. 3972 & O 99 B




101.

102.

103.

104.

105.

106.

107.

108.

1089.

110.

Who gave ’chetheory bf-gi raVIty ?

(A) Issac Newton (B)
(C) Charles Babbage | (D)
The Unit of Pressure is :

(A) Pascal (B)
(C) Newton (D)
The Velocity oflight in air is :

(A) 5x10°m/sec (B)
(C) 3x10%m/sec (D)
Who was the inventor of rieut_ron ?

(A) Rutherford | (B)
(C) Chadwick : (D)
The Planet having only one moon is :

(A) Mercury ' (B)
(C) Satumn (D}
The Sma!lest.Planet of solar system is :

(A) Mercury (B)
(C) Uranus ‘ ' (D)
Itis difficult to walk on ice because :

(A) Friction is high ®
(C) Pressureishigh (D)
Lubricénts areusedio:

(A) increase friction (B)
(C) reducefriction - (D)
In which medium does sound travel fastest ?
(A) Vacuum (B)
(C) Water (D)
The Wright Brothers were the inventors of -

(A) telescope : B (B
(C) aeroplane - (D)

I

Galileo

None of these

Dyne

None of these

4x10* mfsec

3x10" m/sec

Thomson

Newton

Earth

Mars

Neptune

Venus

Friction is low

Pressure is low

decrease friction

none

Steel
Air

radio

elevator

A-12500
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111,

112.

113..

114.

115,

116.

117.

118.

119.

120.

The Filament of electric bulb is made of:

Iron

lead

Guitarist

Politician

Graham Bell

Galileo

temperature

energy

decible

wave

gases only

ali of these

drag

water

magnetic force

(A) Copper : (B)
(C) Tungsten (D)
Stephen Hawkingsis a:

(A) Pianist (B)
(C) Scientist (D)
Who invented electric bulb ?

(A) Thomas Edison (B)
(C) William Cook (D)
Curie is the unitof:

(A) radioactivity | (B)
(C) heat (D)
Loudness of Sound is expressed in the units of :
(A) hertz B
(C) frequency (D)
Sound can tfavel through :

(A) liquids only (B)
(C) solidsonly D)
in Science, the common names of gases and liquids is :
(A) fluids ' (B)
(C) energy - (D)
An apple falls to the ground due to ;

(A) gravity (B)
(C) friction force (D)

The intensity of Earthquake is measured on the :

(A) Seismograph (B)
(C) _Electrocardiogram (D)
L aws of reflection are :

(A) three | B)

- (C) five . (D)

none of these

Seismometer

Richter scale

four
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-

121. The density of water is faximum at -

(A) 100°C (B) +4°C

(©) o°c (D) —4°¢
122. Dryiceis -

(A} Solid Water (B) Solid CO,

(C) Dehydrated ice (D) Solid H,0,
123. The main component of Gobar gas is :

(A) Methane | (B) Ethane

(C) Hydrogen | 7 (D) OXygen
124. Inwhich of the following Chlorophyll does not exist :

| (A) algae (B) bryophytes

() teridophytes' (D) fungi

125. The evaporation process occursin -
~ (A) root (B) stem

.(C) leaf (D) entire body of the plant
126. Which one Vitamin is necessary for blood clotting ?

(A) VitaminA () Vitamin D

(C) Vitamin K | (D) Vitamin C
127, Whiéh one of the following is not a mammal ?

(A) Fish (B) Bat

(C) Whale . (D) None of these
128. The edible part of the potatois:

(A) Root E (B) Bud

(©) Stem | _- (D) Fruit
129. Anorgan in which RBC forms in human body is :
 (A) Heart (B) Spleen

(C) Liver (D) Bone-marrow
130. Ironisfound in: _

(A) egg ' - (B) greenvegetables

(C) milk (D) cauliflower

, ' : A-12500
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131.

132,

133.

134,

135.

136.

137.

138.

130.

140.

Main source of Vitamin C is

Milk
Meat

Vitamin B
Vitamin E

Animal cell

Nerve cell

Chromosomes

None of these

Cell membrane

Mitochondria

G.J. Mendel

Morgan

Humerus
Tibia

Iris

Cornea

Louis

Electronic

Louis Pasteur

(A) Amla (B)
(C) Vegetabies (D)
Which Vitamin is soluble in water -

(A) Vitamin A (B)
(C)- Vitamin D (D)
Mitochondria is found in |

(A) Plantcell - (B)
(C) Bothplantand animal cell (D)
Power house of the cell is - _
(A) Ribosomes - (B)
(C) Mitochondria (D)
Which of the following organelle is not-present in an animal cell .
(A) Cellwall (B)
(C) Nucleus (D)
Who s the Father of Genetics :

(A) Johnson (B)
{C) F.B.Morrison (D)
Whichis the longest bone in human body:

(A) Ulna (B)
(C) Femur _ (D)_
Which is the coloured part of the eyes:

(A) Reting ' - (B)
(C)  Pupil (D)
A System that used by blind persons to read :
(A) Braille (B)
(C) Visual (D)
Who discovered the Penicillin -

(A) Alexander Fleming (B)

(C) - Dresser . (D)

Edward Jenner

A12500
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148.

149,

150.

142.

143.

144.

145,

1486.

147.

- Whichris the longestendocrine gland in Furman body:

(A) Thyroid (B)
(C) Kidney (D)
Which blood group is called 'Universal donor':

A A 8)
() AB D)

Night blindness in human beings is caused by :
B)
(D)

(A) Deficiency of Vitamin C
(C) Deficiency of Vitamin B

Parathyroid
Pituitary

Deficiency of Vitamin A

Deficiency of Vitamin K

21%
2%

The percentage amount of Oxygen vpresent in Afmosphere is
(A) 20% (B)

(C) - 76% (D)

CNG stands for:

(A) Compressed Natural Gas (B)

(C) Commercial Natural Gas (D)

Which metal is the best conductor of electricity :

(A) Gold (B)
(C) Copper (D)
Blue Vitriol is

(A} Copper Sulphate (B)
(C) Iron Sulphate (D)
On rusting in the iron

{A) its wt. is increased (B

(C) nochanges take place

Which one of the following metal is heaviest ?

(A)  Silver (B)
(C) Goid (D)
The Smallest bone of the human body is:

(A Nail | (B)
(C) Stepis

(D)

©

Combined Natural Gas

None of these

Silver -

Zinc

Calcium Suiphate

Sodium Sulphate

its wt. is decreased

its wt. changes

Copper
Lead

Bone of Jaw

Bone of the nose

A-12500
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Answer key of ITIECE-2014 Exam held on 25/07/2014

Answer

Qo

Q.No.

115
116
117

118
119
120

121

122

123

124
- 125

126
127

128
129

130
131

132
133

134
135
136

137
138

139

140

141

ol

L]

143

144
145

146

147
- 148

149

150

Answer

[ &)

Q.No.
77

78
79
80
81

82

83

84
85

36
- 87

88
89
90

91 -

92
93
94
95

96
.97

98

99
100
101

102

103

L]

105

106

107
108

109

110
111

112
113

114

Answer

[

Q.No.

39

40
41
42

43

44
45

46

47

48

49

50

51
52

53
54
55

56
57
58
59
60
61

62
63

64

65

(Vo]
[t}

67

68

69
70
71

72
.73

74
75

76

Answer

Q.No.

10
11

12
13
14
15
16
17
18
19
20
21

22
23

24
25

26
27

o]

o

29
30
31
33
33
34

35

36
37
38




